@ BOFCEA

@Eem o‘ng’/cam&wz)g

Rectanalls : ABABC
&) ’16’+49
®3+3 - 77

&) 15 42/14 = 45

.Lfof;dzf
Sﬁpw/amf

._659'-1‘"]_ é@

&

G 49/1¢ _5 3
28 /17 5 13

az/1 , 88/% 58

a9) 1: heate = 22
W?: nesle = 17
‘o b, e) g I3
(a)byc): & 13
18
12 15
5 47
Y
12 4

= ’?ZC‘?X/V/Zg :

@ T L )
@4x5:5 0 B 14 2% ub 45

Ix 7=14 5 X 13 17 21
3x 8= 17 4 kb 4k

b x 11 = bk o 0

5% 13 =65

Pln) = Sm + 2Zn(n-4) = n(2q+3)
2019 & Jan® _o m o 32
P(21) = 31x§5=2615 _5 31

7
/
TN F
BosA L=
A
y

73/ 76 5 15

a+b= 27 ) a-c=3
brcz24

927 = #3415 = 9+93 =~ 10 +712

5 qen B4 13412 = 450 5 X+Y+Z centant % 64,18
2 nem

g §;§ L#Ce%/mjfao X.

72 ﬂf(h ( 43 = 18446 +3 = 18+ 15+ 70 = 12+ 13 +12
13 O

1% S =16 +15412 —> 710

18,15,40 on 18,13, 12




% 18,45, 10 , aly Mot 4g prit par (2,3,

JE — Wz 10+13 o 154§ ou 16+5

11 .
1 B b 1217 5 4 5 1) 3,¢

i& 15 1[0’ : J )
ERE] R/ 59 ARG
T 1y 1€ » |2 14 7 1y

36 wmp (B A7 5) ‘ X LA~ - 13

7% mf/i) {a/ (, ‘ ?,6//?, i}g “ B/5/},752;)//5//"‘1’ 19202 12

[/Mﬁg,

/P’ o 3 I ~ 1
gﬂgf:}/; iz,&) 5/ c/z gf}f/}i/ 45} 3/

. ~ '
/@g/mzz: I T+ O+ 19 + 18

By%} 3+6+ 7+ {5@%"/@)‘1‘-’ 15 = 43 W‘79

) A
(Z) c: wdle
/4/?’12 Zﬂz?/& 2o A 7 p = 24 _omt
“!7’ ct L 9c \“ A E:;{LL /
Zx7
S ”3 A7) ﬂfﬁﬁ
Wreing ™ % 7

;-»fi"l = C }

Bune wﬁf& '@ + 4 C«,ﬁ /’>< Z = ‘%}(@;{%,@7’7

Porkic leimbee - [y (c,h, + J{Z')tx & = 2@h+ jf)
= /;/é; 2h = 6 eom?




7

@4252%42@#}@

‘,%123@04¢&4¢m1$24¢5
Ix 2% < 100 @WW%JMIIS‘
:;c557 -5 7255 0%71,

_%-%aw25 45wcm,fx9

‘4?:5 _,39 4120 +4 + 245 = 145

‘m

JE X e x x X X

~i[

X % X %X K]

R
KR X

w A X
§

‘xx;xxxx' f ' I Xk x

\
[xxx

16




(2,>(£+ (b- 4)C~r (a- 1)(:; 1) = Z abe a/lv/c?g.?‘ |
;ka/$+bc+ac -0~ b= c +71 = —l—a,Lc ;bg fw—dz
be ~b-c +1 besz |
T bef2 ~b-c+1 befz -becoii

bte-1 /lx:/z ﬂt#
besz = J(wc-ﬂ) |
‘b: /&(cvﬁ)

| | N7y
L : B 2(¢~7)
‘A"Z_b b= crR -7

= 2[47

a,lwc: —~ 150

[

= 1+ A/l- 1) ,,*/ﬁ =

c= £ b- ‘701 @ = 3



lf,

7% % 407 = 3w H00= 1200 cn?

8 (efmuw

A s B _y C= 2015

.@1@5 Bz 0w

045+ 46 = 2031 B2 w30 | |
20454 M+ 4e Ty <2040 5 B 2040

e g0Je ez

o~ ' Nz -1 5 u=3

&(

,; 2038 +16= 2055 ;‘A:j_Z;?S:f Ok
A d0gr
i |

20384 13- 7055 mp




@ 9= L

| 7; = ZE, + 7 = 7’00000

TES x 557 = 405% 504 + 40(403+50»1)A+400)>""
= 882083 + 10400b +*700i>" |

A0 ~
159 <32 = 208>< 802 + 10(203+802))>+¢o@}f

‘szL?yegbﬂ = 109x801 + 70 f x303b + 100 b%
‘ = BE508 + 048 +100h™ WIIA«

4}% X ??Jﬁ = 75007 + S080b +1006% b=3
~ F500%F + le Z%D + 00 > Jwo 200
R 1552?
2hFx FhL = Au53E > 700 Doo

+ 870

ke x6b1 = 4306 + 2070b+ 0b>  p9B
N = 43706 4+ 35350 + 7500 men  hoS
=1 63?06+ 1,8280 + o0 e hok

ﬁ%‘xa’% =~ 5205 + 6*06013 +4oo£7*' [

- [4=8] = 52¢05 + 48480 + é%vo [/24&3] Diso

= 88405 T

1byy x 44 = 44704 + Bogoh + 700 b7 bh=3
= b1 70k + 963407 8900
Lhyx4bz = 203 + L0606 + 700b%  en
3b2 x2h3 = €436€ + S0S0h + 70047
[6=7) = 61306 + 35350 + 4506 en
[b=6] = ¢1306 + 303008 + 3600 |

2 ’W 4);53& 557 ~ S2605 + 424720+ 4900 = 65325
=7 0K  Zadk




